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The ﬁgures in the margin indicate full marks

for the questions.
Q. No. 1 1 niark each 1x8= 8
Q. No. 2 = 2 marks each - 2x5 =10
Q. Nos. 3~-7 3 marks each 3x5 = 15
Q. Nos. 8-14 5 marks each . 5x7=135
Q. Nos. 15-18 8 marks each 8x4 = 32

Total =100
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1. Answer the following questions as directed : 1x8=8

T ePfaten N Tes wie

(a) On what condition A|UB=ANB ?
®=¢ AUB=ANBZ¥?

SR 7. i
(b) If 3. i find x.
v

3x 7.

=0 =, [T 3@ x.
RS

(c) 1f "B.=2520, find r.

3% 7P, =2520 =W, O r -1 WiF AT @1

(d) Find the number of terms in the expansion (5x——2y)7-

(5x-2y)" -a T =% Wiz @ |

(e) Find the mode of the following distribution.
e 9% T Al It

7, 9, 10, 8: 93 11: 6’ 8: 43 9

() Fill in the blank :
A S I 8

AeMC < H.M . =

AT &G x 2SS Y =
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1

‘x
(@) If S.D. of x is 5, find S.D. of §+1.

M x 7 o= [yfe 5 2, O §+1*ﬂ§ o [Rpifs it g2

(h) What is the minimum value of the probability of an event ?

G o SRR T Pou Fl S ANEH?

2. Answer the following questions in brief: 2x5=10

ALCHCH NN NS Ted WS 3

(@) Express {-1, 1} in the set builder form.
-1 1}z ci-Reeissest @l

(b) In how many years S.I. on Rs.5000 at the rate of 5%% is
Rs.11007?

o I5E 5%% @ 5000 TiF FE W 1100 Bvf 3|2

(c) Using property of determinant prove that

2 1 -3
= 6 |=0.
3 0 2

e «f oast @ o @ @

o) R e )
S D e IE ON
Sl 710 SN
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()RS ei—\ 2N Sind) " C..

W B, = B¢, W, OE TC, H I

(e} If AM. of x-6,x-3,x+3 and x+6 is 10, then find x.

I x-6,x-3, x+3 32 x+6-«7 NffeT 9T 10 =W, OFET x~_
T T T |

The difference in simple interest on a certain sum of money at
14-5% p.a in 3 years and in 4% years is Rs. 696. Find the sum.
3

AGEF 14-5% @ @I FRER 3 I9F R 4Y% DA 776 ol 18y
696 BiF! | Ee [T |

Draw the graph of the inequality : 2x-y<6. ., 3
SEeIod T S FE1 ¢ 2x -y <6

If nco"‘ l'1(:“1'{‘“02:4', find n. 3

I nco+nc1+ncz=4 o, nﬁ‘fﬂWl

Or / 924!

In a small town there are five schools. In how many ways a father
can send his three daughters so that two of them cannot study in
the same school ? 3
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N |

GO 5T o1 wig| @IE GFEw el O 3 (e Fo 41 Fe
ST A AT IR F&y T G2 FE TS 1 M 2

- i | 1 9
Find the term independent of x in (236— Sxp_) . <

NS RSl x 7t At «m 5@ 3@t |

Or / &3al
Following is the height (cm) of 11 students. From this determine
quartile deviation : =
124, 127, 126,123, 127, 129, 12581305132 308 of)

G QNS o Tove! (GLfA-a) e SIR| < 92 (U 5odF [pfe
ety et

124,:127, 126, 123, 127,.129, 125,130, 132, 130, 121

What are the essential qualities of a good average ? 3

G e 9T ST @RS & &

A limited company intends to create a depreciation fund to replace

at the end of 25th year an asset costing ¥ 2,00,000. Calculate the

amount to be retained out of profit every year, if interest rate is
3% p.a. - S
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(B BIfIGT @i 2,00,000 5 JETa G T@ 25 IR MY F1 Or /@31

&) G310 SleiF St 3 | 3 qoR T 3% T, O AS (A 2AfS I=F o AM. of the following data set is 117.

Bl &=l 00 AR ? e Rereg AM =@ 1171

Weight No. of people
9. Solve using Cramer’s Rule : S
CR)) CIGEERIN)
FIER A AN R
100 1
110 4;
2x+3y+z=9
xX+2Yy+3z=6 120 g
3x+y+2z=8 : x+25 2
140 1
Or / &34Y : Find x. 5
I ‘ x T et
1 1 x 1 ‘
If (M) Az[ 1:], B=[ 1] .
w 4 11. Prove that ((fA8 @ ) 5
o 2 2 2 2a a-b-c 2a
and (9R) (A+B)* = A%?+B? (), ;
2b 2b b-c-a|=(a+b+c)".
find the value of x and y. 5 Il = 2C
(x R y -7 T [ef7 F&AN)
12. Three coins are tossed simultaneously. Find the probability of
10. Prove that a" —-b" is divisible by a-b. 5 getting at least two tails. S
3 @ @32 A Fewd T 2@ | FusTEs 2 WIS AR (tails) SR
? A T a" —b", a—b @Hl Koy ST R S
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13. What is correlation ? Explain with the help of a diagram different

types of correlation.

TRITE ! 2 G0 o AW [ieq 2P FIwReE=t IR FE |

14. Find the mean and standard deviation of the given data: 5

e Tttt Mg 3 awe Rpfe Fd st s
320, 290, 265, 300, 270, 200, 315.

15: (@) If Ai={o 3]

(b)

B={4,5}, c={5,6},

find (AxB)U(BxC). 4
I A={2,3}, B={4,5},
(AxB)U(BxC) fdfa 3|

c={5,6} =,

Or / 9441

Out of 52 students, 20 play cricket and 16 play hockey.
10 students play both cricket and hockey. Find the number of

students who do not play either of the game. 4
52 T QIEF N, 20 fFs (IE @R2 16T 2 Ael | 10 O B9
9o AR AT | TS IR FE GH08 (el - Wedd TR [l
A

Compound Interest and Simple Interest on a certain sum of
money for 2 years are respectively Rs. 920-25 and Rs. 900.
Find the sum and the rate of interest. 4

(I SEHCR 2 TS bl w0 3R e 7 TG 920-25 Bil «_Q
900 Tt T, [ GR YA T [WefT e |
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2+3=5

o

16. (a)

(®)

(c)

17. (a)

(b)
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Calculate mean deviation from mean from the given data :

4
feER wibt SR, W A S Rpfe fef e ¢

7, 101515, 922,026

If mean=16, S.D.=50, find coefficient of variation. 3

I Mg = 16, @ R =50 T, O WPiRe v [y <@ |

What measure of central tendency is appropriate in case of
open class interval ? 1

T& T S@I-« @m@'ﬂﬁa@aﬂﬁmﬂ%@ﬁmﬂ?

A bag contains 10 balls numbered from 1 to 10. Find the
probability that a ball selected at random bears a number
that is a multiple of 2 or 5. 4

a=f5 4TS 105 201 Wix SR 1 (¥ 10 =S eyt i s | ©F

(A <36 o1 AR (ST el 2 I 591 sffes syl o
TeiRet T st

A pair of unbiased dice is thrown simultaneously at random.
Find the probability of getting

() at least a 6

(i) a total of 9 points. 4
ﬁw@w@ﬁwmwmﬂwm|

(i) IAACEF G 6 ANSTS

(i) g9 oft O MARER @NFEE I 9 28TF
Teifer AT st |
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(b)) Under what condition two matrices are

addition or subtraction ?

Compound Interest for 2nd year on a certain sum of money

at 4% p.a is Rs 25. Find C.I. for 3rd year.

4 & =S 4o Gheeesa @9 A Reeree 79

ARF 4% W AR @I L RS =7 v@gian 0 25 510t Z& (c) What are the subsets of the set

PO IR b@gf@ M O FA?

18. (a) Calculate Karl Pearson’s correlation coefficient.

I TPw-a ToTET @i [T st |

X 3b TR Bt 5 6 7
y G ST ST o LT i )
Or / 994!

3 IRED,
A [ OETS 4
=0

SIEL D)
/N 1018 Il =0
0 B a il 0)
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A={1{3,5},6}7?
e Afooa ToRfoale @l ¢
A':{l: {3:5}:6}

——t
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